K0406

ZH 2 DIN 705, A&

o

= 8Y/HMIZ olo|x]

L

EM O

EF A:

ZH 2 AE XX Ol R 2.

O8E AJQF AR AL S3 15H, AHedX OtF 2.
ElY E:

M 3 AR XY ol R E Ee :
OFH AR AR AT S22 45H, AHHAX Ot F2|(A™MM) e e
2|, HA m|atxqg|.

d2E A3 AHQIHA AEA2-70, RFAX OFR 2.

.
A%: 125 AE|{E DIN553(2 %) 8
EtQl E: 132 AE{E DIN EN ISO 4027 Z&H(S2Z A%

DIN 7050 2t X[HE SA7F 23 = 2ol M EL(CH ZE %12
£l m 2lof chEt ZAE 2RY £ aLch 750l S¥e =Xl g
&Lct
EH MY,
1) 5 ¢ 2fE2 A3/ D1275
=N
D3
.Y
/|
Bjs14
Z= g0t
ZH 21 DIN 705, 2E!
FEHS AE x|Z A EfQ] D1 B D2 D3
712 S| LIAF AEE
K0406.100301 AE] AHoix otR 2| A 3 5 7 M2x3
K0406.100401 AE Ated™ o R 2| A 4 5 8 M2,5x3
K0406.100501 AE X4 ot 2| A 5 6 10 M3x4
K0406.100601 AE Aodx ot 2| A 6 8 12 M4x5
K0406.100701 AE Atedd o R 2| A 7 8 12 M4x5
K0406.100801 AE A4 ot R 2| A 8 8 16 M4x6
K0406.100901 AEl Aodx ot 2| A 9 10 18 M5x8
K0406.101001 AE Atedd o2 A 10 10 20 M5x8
K0406.101101 AE X4 ot R 2| A 11 10 20 M5x8
K0406.101201 AEl Aodx ot 2| A 12 12 22 M6x8
K0406.101401 AE Atedd o R 2| A 14 12 25 M6x8
K0406.101501 AE Xodx ot R 2| A 15 12 25 M6x8
K0406.101601 AE Aod% ot 2| A 16 12 28 M6x8
K0406.101801 AE Ated™ or R 2| A 18 14 32 M6x8
K0406.102001 AEl A ot 2| A 20 14 32 M6x8

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/4



K0406

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

°

Z& 21 DIN 705, 2 E!

EZS 29

FEHS TFHE MA EMH Ele] D1 B D2 D3
7|18 SH LIAF AEE

K0406.102401 AEl Aodx ot 2| A 24 16 40 M8x12
K0406.102501 AR Aroix Or 2| A 25 16 40 M8x10
K0406.102601 AE A4 ot 2| A 26 16 40 M8x10
K0406.102801 AEl Aodx ot 2| A 28 16 45 M8x12
K0406.103001 AE Aroix OrF 2| A 30 16 45 M8x10
K0406.103201 AE oA orF 2| A 32 16 50 M8x12
K0406.103501 AE Aroid orR e A 35 16 56 M8x12
K0406.103601 AE Aroix OrF 2| A 36 16 56 M8x12
K0406.103801 AE A or R 2| A 38 16 56 M8x12
K0406.104001 AEl i ol 2| A 40 18 63 M10x16
K0406.104201 AE AHoix OrF 2| A 42 18 63 M10x16
K0406.104501 AE Aedd orF 2| A 45 18 70 M10x16
K0406.104801 AE Aroid orF e A 48 18 70 M10x16
K0406.105001 AE Atedd o R 2| A 50 18 80 M10x16
K0406.105201 A€l Xodx ot 2| A 52 18 80 M10x16
K0406.105501 AE Aroid orF e A 55 18 80 M10x16
K0406.105601 AE Ated™ o R 2| A 56 18 80 M10x16
K0406.105801 AE A orF 2| A 58 20 90 M10x16
K0406.106001 AE Aroid orR e A 60 20 90 M10x16
K0406.106301 AE Atedd orR 2| A 63 20 90 M10x16
K0406.106501 A€l A4 ot R 2| A 65 20 100 M10x20
K0406.106801 AEl Aodx ot 2| A 68 20 100 M10x20
K0406.107001 AE Atedd o R 2| A 70 20 100 M10x20
K0406.107201 AE Xtodx ot R 2| A 72 20 100 M10x20
K0406.107501 AEl Aodx ot 2| A 75 22 110 M12x20
K0406.108001 AE Ated™ o R 2| A 80 22 110 M12x20
K0406.108501 AE A orF 2| A 85 22 125 M12x25
K0406.109001 AE Aod% ot 2| A 90 22 125 M12x20
K0406.110001 AE Atedd o R 2| A 100 25 140 M12x25
K0406.300301 AEl A4 ot 2| E 3 5 7 M2x3
K0406.300401 AE Aodx ot 2| E 4 5 8 M2,5x3
K0406.300501 AE Atedd o R 2| E 5 6 10 M3x4
K0406.300601 AEl Aodx ot 2| E 6 8 12 M4x5
K0406.300701 AE Aodx ot 2| E 7 8 12 M4x5
K0406.300801 A& XHedx ol 22| E 8 8 16 M4x6
K0406.300901 AEl Aodx ot 2| E 9 10 18 M5x8
K0406.301001 AR Aroix or R 2| E 10 10 20 M5x8
K0406.301101 AE A4 ot 2| E 11 10 20 M5x8
K0406.301201 AEl Aodx ot 2| E 12 12 22 M6x8
K0406.301401 AR Aroix Or R 2| E 14 12 25 M6x8
K0406.301501 AE Xodx ot 2| E 15 12 25 M6x8
K0406.301601 AEl Aodx ot 2| E 16 12 28 M6x8
K0406.301801 AR Aodx ot 2| E 18 14 32 M6x8
K0406.302001 AE X4 ot 2| E 20 14 32 M6x8
K0406.302401 AEl Aod% ot 2| E 24 16 40 M8x12
K0406.302501 AE Aroix OrF 2| E 25 16 40 M8x10
K0406.302601 AEl Xodx ot 2| E 26 16 40 M8x10
K0406.302801 AE Aroid orR e E 28 16 45 M8x12
K0406.303001 AE Aroix OrF e E 30 16 45 M8x10
K0406.303201 AE A or R 2| E 32 16 50 M8x12
K0406.303501 AE Aroid orF e E 35 16 56 M8x12
K0406.303601 AE AHoix Or R 2| E 36 16 56 M8x12
K0406.303801 AE Aedd orF 2| E 38 16 56 M8x12
K0406.304001 AE Aroid orR e E 40 18 63 M10x16
K0406.304201 AE Atedd o R 2| E 42 18 63 M10x16
K0406.304501 AE A4 ot 2| E 45 18 70 M10x16
K0406.304801 AEl Aedx ol 2| E 48 18 70 M10x16
K0406.305001 AE Atedd o R 2| E 50 18 80 M10x16
K0406.305201 AE A orF 2| E 52 18 80 M10x16
K0406.305501 AEl Aodx ot 2| E 55 18 80 M10x16
K0406.305601 AE Atedd o R 2| E 56 18 80 M10x16
K0406.305801 AE A orF 2| E 58 20 90 M10x16

2/4



K0406

Z& 21 DIN 705, 2 E!
EZS 29
FEHS TEE MA EH Efel D1 B D2 D3
7|18 SH LIAF AEE

K0406.306001 AEl Aodx ot 2| E 60 20 90 M10x16
K0406.306301 AR Aroix Or 2| E 63 20 90 M10x16
K0406.306501 AE Atedd or R 2| E 65 20 100 M10x20
K0406.306801 AEl i ol 2| E 68 20 100 M10x20
K0406.307001 AE Aroix OrF 2| E 70 20 100 M10x20
K0406.307201 AE oA orF 2| E 72 20 100 M10x20
K0406.307501 AH[QIE|A AR A2 Atedd ot 2| E 75 22 110 M12x20
K0406.308001 AH|QIEA AR A2 Aodx ot 2| E 80 22 110 M12x20
K0406.308501 AHQIP|A AR A2 Atedd ot E 85 22 125 M12x25
K0406.309001 AH[QIE|A AR A2 Atedd ot R 2| E 90 22 125 M12x20
K0406.310001 AH|QIEA AR A2 Atedx ot F 2| E 100 25 140 M12x25
K0406.300303 AE oted =3, MM m|atx{Z| E 3 5 7 M2x3

K0406.300403 AE oted =&, MM m|atx{Z| E 4 5 8 M2,5x3
K0406.300503 AE ofod =32, MM matx{Z| E 5 6 10 M3x4

K0406.300603 A€l oted =2, MM m|atx{Z| E 6 8 12 M4x5

K0406.300703 AE oted =2, MM m|arx{Z| E 7 8 12 M4x5

K0406.300803 A ofod =32, MM m[at&{Z| E 8 8 16 M4x6

K0406.300903 A€l oted =3, MM m|atx{Z| E 9 10 18 M5x8

K0406.301003 AE oted =2, MM m|atx{Z| E 10 10 20 M5x8

K0406.301103 A ofod =32, MM matx{Z| E 11 10 20 M5x8

K0406.301203 AE oted =2, MM mlatxz| E 12 12 22 M6x8

K0406.301403 AE ofod =2, MM matx{Z| E 14 12 25 M6x8

K0406.301503 AE ofod =32, MM m[atx{Z| E 15 12 25 M6x8

K0406.301603 AE oted =2, MM mlatxz| E 16 12 28 M6x8

K0406.301803 AE ofod =2, MM matx{Z| E 18 14 32 M6x8

K0406.302003 AE oted =&, MM matxz| E 20 14 32 M6x8

K0406.302403 AE oted =2, MM mlatxz| E 24 16 40 M8x12
K0406.302503 AE ofod =2, MM matx{z| E 25 16 40 M8x10
K0406.302603 AE oted =&, MM m|atxZ| E 26 16 40 M8x10
K0406.302803 AE oted =2, MM mlatxz| E 28 16 45 M8x12
K0406.303003 AE ofod =2, MM matx{Z| E 30 16 45 M8x10
K0406.303203 AE oted =&, MM matxz| E 32 16 50 M8x12
K0406.303503 AE oted =2, MM mlatxz| E 35 16 56 M8x12
K0406.303603 AE ofod =2, MM matxz| E 36 16 56 M8x12
K0406.303803 AE oted =&, MM matxz| E 38 16 56 M8x12
K0406.304003 AE oted =3, MM m|atx{Z| E 40 18 63 M10x16
K0406.304203 AE ofod =2, MM matx{Z| E 42 18 63 M10x16
K0406.304503 AE oted =&, MM matxz| E 45 18 70 M10x16
K0406.304803 AE ofod =2, MM m[arx{Z| E 48 18 70 M10x16
K0406.305003 AE ofod =2, MM matx{Z| E 50 18 80 M10x16
K0406.305203 AE oted =3, MM m|atx{Z| E 52 18 80 M10x16
K0406.305503 AE ofod =2, MM m[akx{Z| E 55 18 80 M10x16
K0406.305603 AE ofod =2, MM m[atx{Z| E 56 18 80 M10x16
K0406.305803 AE oted =3, MM m|atx{Z| E 58 20 90 M10x16
K0406.306003 AE ofod =2, MM m[arx{Z| E 60 20 90 M10x16
K0406.306303 AE ofod =2, MM m[atx{Z| E 63 20 90 M10x16
K0406.306503 A€l ofod =2, MM m[atx{Z| E 65 20 100 M10x20
K0406.306803 AE oted =2, MM m|arx{Z| E 68 20 100 M10x20
K0406.307003 AE ofod =32, MM matx{Z| E 70 20 100 M10x20
K0406.307203 AE oted =2, MM mlatx{z| E 72 20 100 M10x20
K0406.307503 AE oted =2, MM m|atx{zZ| E 75 22 110 M12x20
K0406.308003 AE ofod =32, MM m[atx{Z| E 80 22 110 M12x20
K0406.308503 AE oted =2, MM mlatx{z| E 85 22 125 M12x25
K0406.309003 AE oted =&, MM m|atx{Z| E 90 22 125 M12x20
K0406.310003 A ofod =32, MM matx{Z| E 100 25 140 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

3/4



ZH 2 DIN 705, A&

HH
Jn
)
12

KIPPo| ZH FAMBEZH AR F2 7|A U MH| S&o| 715 7|& 20koilA AFSELICH &2 A FEE I S<lofl 7ts
E2 EYs xlol 2|HMe 2 1HE7| IEt oHHMEE TIsE E.LIH o2 ST 7|H A /\Eni Hio{d e = AF
SELCH £8 78 7|& BofdM CHE B ES MIA—IEIEE AEtEFLICH O|2{8t o= & IEEM 7|09 &
OS2 M AF AFSELCLHHKIPP2 CHY st ZElo] M 212 MSELIch A8 =& 3 o]|Qlof AHQIBA A& A7<H
ol ZH A REICIZM FEE £ ?AQLIH o SENO et 27t K| B/ 7 }ELICH stLbE £€%0| e a8 A3
FEIY A)O|T CIE StLtE SZF 4%0| e OE A3 F (B E)YUct 20| e =8 d U =™ 2 XX
st=0 AH8El= QIME E8|0|EX KIPP xil S50 2o

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



